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SANSKRIT
( Honours Generic/Regular )
Paper : SKT-HG/RC-1016
( Basic Sanskrit )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese
or in Sanskrit

UNIT—I1

( Grammar and Composition, Part—I /
YT HIF - AST—ALT 4 )

( Marks : 30 / JoURF : wo )

1. Decline any four of thc following : 1x4=4
oS il R It SiRbE e Brdt
(a) R—yam SgE<A
(b) w—=gd T

A23/466 ( Turn Over )



(3 )

(2)
i (e) ok ___ | (3r@Ieq / sr@eq)
— ThE
(0 g 0w __1 (R / e
@ w5 (@) IPF: __\ (amPrafy / smifreary)
(e) STEG—HIHT TG
(0 TP T 4. Correct any five of the following sentences :
1x5=5
) T—wE TG _
€ SR R I <hobt a1 wate Brd
2. Frame sentences with the following words (a) ™ IS
(any three) : 2x3<6 (b) = )
‘ -5 41 (R i Tofibt) -
wors Tl =R AT - |
s . 1 W9 feraf=a
O ; S W (d) w
(e) T g
3. Fill in the blanks choosing the correct word e
from the brackets (any five) : 1x5=5 (H R wfesfy
(R I fiwbi) -
(a) F’ ___ | (Wi / =Ei) S. Write the declension of any one of the
following words : 10
b ) (R / )
(b) gM ©TS il R I @Bt o e oy -
(c) ¥ ___ 1 (%7 / %) SU—
(d = | (9= / gm)
A23/466 ( Turn Over )
A23/466 ( Continued )



( 4 )

UNIT—IX

( Grammar and Composition, Part—II /
T TE - 5159—FS 2e )

(Marks:30/¥5m<¢:bo)

6. Conjugate any six of the following roots : 1x6=6
T R G wmb arex Remieiar B

(a)
(b)
(c)
(d)
(e)
0

(8
(h)
()

G

(k)

A23/466

VIR S g
VAR, A T
VF—HE, FE T
V% FGRY TEE
VEI—TR, SEGR T
VI, S g
VAo TGRS S
VR, ST T
W 7T v
VTR, TR e
VIR, T T

{ Continued )

7. Join the following Sandhis (any five) : 1x5=5
o) AfeEE @9 F4 (R e «liob) ¢

(a) o + 3o
(b) R +3=
(c) 1+
(d) 3R+ 3y
e) T+
() T+

(g) T+3m:

8. Give the resulting forms of the following
(any five) : 1x5=5

v PAIERT Fes [l s9@e B (R e
“fisBt) :

(a) T +3q
(b) 3N + I

(c) g+

A23/466 ( Turn Over )



10.

A23/466

( 6 )

(d) 9 +hag
(e) &Y+ FEN
) ;-7 +¥Y
() F+391

Write the active or passive forms of the
following underlined words (any two) : 2x2=4

SO SIoh AR IR LA ISR FAEN
ot (R oIt ) -

(a) T T=Bf
(b) W T
(c) &t e
(d) ¥ v gE)

Conjugate any one of the following roots in

@ (present), ¥ (past), %< (future) and ?'?Ia
(imperative) FRs : 10

Wﬁmﬁmmﬁ@?a@,ag,q’@m@@
TR fFuwemT frdt -

Va1; VR Ve

( Continued )

11.

12,

A23—1000/466

UNT—II
( Srimadbhagavadgita / HwgmSite! )
( Marks : 20 / PRSP : 0 )

(a) Give an introduction on the Srimad-
bhagavadgita. 10

Arsraaery «ft «e i
' Or / 5331

(b) Present a note on the worship of W[ and

o1 5@ as described in the Chapter XII of
the Srimadbhagavadgita.

‘BeoRmNer W SIS I T SRR
A I g THI SARHI T @S Gt o
b

Explain any one of the following verses : 10

SR R @I @Bl Gl it 41

(a) ¥ EFAFRETES TG |
T TS FEEHEe g

(b) TE: Wad AN FEm et
Feafierigiedt Forn: § A B

* K ok
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